M17ZB3 Lecture 21 (CO2) Dr. Wolkowicz Feb. 27

§3e
* Michael Chrichton (1969)
The Andromeda Strain

"The mathematics of uncontrolled growth are
frightening. A single cell of E. coli would under
ideal circumstance, divide every 20 minutes. That
is not particularly disturbing until you think about
it, but the fact is that bacteria multiply
geometrically: one becomes 2, 2 becomes 4, 4
becomes 8, and so on. In this way, it can be
shown that in a single day, one cell of E. coli could
produce a super-colony in size and weight equal to
the entire planet earth.”

Actually, it would take approximately 2 days.

-12
Average mass of 1 E coli cell is approx. 10 gm

3¢ 24
Mass of the earth is approx. (5.9768) 10 kg
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